Chapter Two: Digging the Second Grave for Naturalism – No “Big Bang”
The name “Big Bang” has become a staple in every meal for evolutionists. However, careful analysis shows that it does not hold water. There are gross errors in it. 

The Bible clearly states that God created the universe by ex nihilo. God did not create the universe by means of “Big Bang.” If God were to create the universe by “Big Bang,” then there is no need for God, just as what Steve Hawking has said. 

Dr. Robert Gentry pointed out that Einstein’s 1915 paper on General Relativity points to a Static Universe. Gentry arrived at such a conclusion based on his calculation of the loss of energy due to cooling of the universe.
Einstein formulated his general relativity by combining 16 differential equations into one. Karl Schwarzchild was the first scientist who solved Einstein’s equation in 1915, three months after the equation was published. He converted the equation into spherical coordinates. He predicted the existence of the black hole, now carries his name Schwarzchild radius. 

I venture to say that we will never found intelligent life like our own in the outer space. This is a bold claim based on the impossibility of generating life by random chance. Even with our intelligence, we have not been able to create life as we know it. The simplest organism is extremely complex.
I made the observation that no twins are totally alike. Therefore, no two planets are completely identical. This is a reasonable conclusion.

Our physical bodies will die given enough time. But God created a soul for each of us. Our soul is eternal. Therefore, we should expect our soul will find rest in Heaven if we come to Him through Jesus Christ.

This is the official view of the “Big Bang.” Yet there are many problems with it. First of all, the structure of matter is not the same as the origin of matter. High energy labs around the world are working to decipher the structure of matter. Of the 500 or so particles in an atom, only about 50 of them are found. 

Even if we know everything about the structure of matter, we may not know the origin of matter. For example, we may know the structure of a living cell, yet we still do not know the origin of the cell. We may know the structure of a watch. It does not mean that we know the origin of the watch. We may know the structure of the atom entirely. It does not mean that we know the origin of the atom. We may know the complete structure of a man. It does not mean that we know the origin of the man. The origin of something is either a philosophical or a religious issue. For example, B comes from A. But there can be more than one way to get B. B may come from A’. At any time a scientist proclaims origins issues, he has overstepped science into the realm of philosophy or religion. It is unfortunate that textbooks and newsprints do not generally make this clear. Thus, it becomes an indoctrinating and brainwash issue.
During 1997-1998, Dr. Robert Gentry published three research papers in the Modern Physics Letters arguing that the original 1915 paper of Einstein on general relativity is correct after all. He stated that “the universe is governed by the Einstein static spacetime solution of the field equation, and not the Friedmann-Lemaitre solution. He pointed out a big problem with the “Big Bang,” which involved nonconservation of cosmic background radiation losses amounting to more than 30 million times the baryonic mass of the visible universe!”  This is indeed very serious. It is too bad that mainstream scientists ignore this glaring fact. 

The present universe consists of 1048 tons of matter. Assuming that there has been no new creation of matter after the universe has been created, the question to ask is the origin of this huge amount of matter, if this huge amount of matter were not created by God. Also, the initial temperature has been deduced from the “Big Bang” and this temperature was 1032 K. Where did it come from? How could energy turn into matter? Energy alone will not generate enough matter. This big lump of matter would contract due to huge gravitation. This has been observed in the contraction of our sun. Our galaxy has the mass of about 1011 suns. And the universe has over 1000 billion galaxies. There is no mechanism that the initial huge mass can explode. It will not generate galaxies!
High energy physics proposes that matter and anti-matter will collide to become a packet of energy. But anti-matter is rare compared with matter. The largest accelerator in Fermi Lab near Chicago draws gigawatts of power loading down the power grid. The annual power consumption is over 2 million dollars. With this gigawatt power, very little anti-matter is produced, because it is inherently unstable. It reverts to matter within a second. 
Devices to trap the anti-matter require the input of energy. Any imbalance will turn the antimatter back into matter. The rest of the energy is lost to heat! Cooling is required. Again, large amount of energy is required for cooling!

There is a difference between a ball matter expansion and the “Big Bang.” The former ball matter expansion required energy to propel the expansion. However, the “Big Bang” proposes a hypersphere with no center and no boundary. Later, I will show that this is physically impossible. Why? An expansion of the spaces between the galaxies will also expand the spaces inside the galaxy. In fact, calculations show that the forces that expand the space between the galaxies are greater than the forces that holds the stars within a galaxy. If the universe expands, it will also expand the galaxy itself. Since the galaxies are intact, therefore, the universe is not expanding. I will elaborate this point with calculations in the following presentation. 
Galaxies are not moving very fast. Otherwise we should see galaxy centers would be moving towards the direction of motion of the galaxy. The center of the Milky Way is moving towards the Virgo Cluster with a velocity of about 90 km/sec.

The Local Group consists of about 40 galaxies. Our Milky Way is part of it. The Local Group speeds are about 100 to 400 km/sec towards the Virgo Cluster. The Virgo Cluster is about 60 million light-years away from the earth.

Inside the Local Group, galaxy velocity dispersion is about 72 km/sec. This is also true for dwarfs and giant galaxies. Since the distance of the sun to the center of the Galaxy is about 8 kpc, which is about 2.47 x 1017 km, the time for the Milky Way Galaxy to disappear is about 100 million years!

The current understanding of the “Big Bang” universe consists of 4% of normal matter, 22% of “dark matter”, and 74% of “dark energy.” How can a theory that only knows 4% of the universe be true, because 96% of it is unknown? Therefore, a radical revision is necessary.
Dr. Gentry published “The Genuine Cosmic Rosetta” in the Modern Physics Letters on June 14, 1998. He states that “Reexamination of general relativistic experimental results shows the universe is governed by Einstein’s static-spacetime general relativity instead of Friedman-Lemaitre expanding-spacetime general relativity. The absence of expansion redshifts in a static-spacetime universe suggests a reevaluation of the present cosmology is needed.”

Many physicists recognized that the in-flight photon energy loss which accompanies photon wavelength expansion represents nonconservation of energy. This fact has been conveniently ignored by “Big Bang” believers! Simple calculations show the following: Assuming a nominal universe volume is of 15 billion-ly radius, and the present 2.7K cosmic background radiation having photon density of 410 photon/cm3. Then, the average energy of one photon at 2.7K = 10-15 erg, and that at 3000K = 1.13 x 10-12 erg. Therefore, the total expansion energy loss would be equal to 5.5 x 1075 ergs. This is about 3 times the total mass of a universe composed of 1021 solar masses. 

For an initial fireball temperature of 3 million K, the total radiation loss would be about 3000 times of the mass of our present universe. When the initial temperature is believed to be 30 billion K, then the nonconservation losses would have been 30 million times the mass of our present universe!

However, if our universe is governed by Einstein’s static-spacetime general relativity and Einstein redshifts, then the energy will be conserved. 

Therefore, there has been no “Big Bang,” otherwise the huge energy loss would have been impossible. In fact, there has been no expansion of the universe, because there is no energy losses. This topic will be dealt with in detail in another presentation.

There have been two famous sky surveys during the last twenty years. One is the 2dF Galaxy 
Redshift Survey, which is a joint United Kingdom and Australia project sampling 200 thousand galaxies in 2 degree slices above and below the plane of the Galaxy, and the other is the Sloan Digital Sky Survey, which mapped about 6% of the sky. It also surveyed 200 thousand galaxies and QSOs.
· The two sky surveys show concentric and circular structures with our Galaxy as center

· The Big Bang Model should expect more galaxies at greater distances as we look back in time

· The sky maps show galaxy density oscillates with distance, hence circular structure

· Galaxies are found at certain discrete distances resulting in preferential variations with our Galaxy as the center

Therefore, we live in a universe centered at our Galaxy with no “Big Bang” in the beginning, because God created the universe in 6 days as mentioned in Exodus 20:11 and Genesis 1:14. 
Let us give all glory to the Creator God Jesus Christ!

